2-pn. Lpdhg 1mdyYnn juunhpukp
(tinnupadwu Ubpnnny jméynn)

@ WLrh pbnpr (mobOT

Wu nuuh juunhputipnd wivhwynh httn hwenpnwipwp Uty jud dh pupp npnpwljh gnpén-
mpymuubp tu junwnpynd, npnughg htnn epguwljuwu wipnymiupu | hwymup jhunwd: Wa-
huwynu wunipnuyhnptiu pninp gnponnnipiniuutiph dwuuwygnd §, muwnh philt withwywnh htn
hwenpnuwpwn Junwnpynn gnpénnnipjniuubnp npnpwiih Bu, vwuyu dhswuljjuy wpnyniupubtpu
wuhwyn Gu: Lwynuh B ybpsuwyuu wpyniupp: <wuljuwiuwh B, np wivhwynp guubne hwdwp
yYtpohu wnyjuh httn hwljunwy Jupgny hwjunupéa gnponnnipyniuutinp wtwnp £ junwnpt:

Gpp wdwu fuunhpubp pwuwynp moly thnpatp, Ygqup, np hhduwwu wypnpidp 6hon
gnponnnipnitutipnp thyn hppuwuntyeyudp hhotju b (npuk dthp fuwnutim nbupnid wdbu huy
fuunuymd k):

Pninp fuunhputpp huwpwynp b oty dhuyu npuiup dhus Ytpg, funpuwtiu pupnubyn
ntwpnud: bull fjuunhputiph pdpnudwu hwdwp poinpu Ly, 2w ph phs, ulwgnph ypw npuwug
ujujutiph (wy, hug huynuh ) b wuwhwugubph (wyl, huy wtwp b npnadh, quigh) npnp
wwwnhtpnidutp Gup wund, wyuhupt' npnpwlh géwwywnybputp (ujubidwutp) Gup ogquw-
gnpond:

Jdbpohg moynn fuunhpubpmd gdwwyuwnybpdwu ab Gup wnwowpynd, npp juhuwn
ogunuwjun Jupnn b hub: Wuwbu.

C“]ﬁ\ tuunhp 1. Gpl lnuwywhwéu phyp 5 wuqud Utdwgutid, wpnymupht 125 wytjugutd
L unwugywdp 6-h pudwitid, 115 junwgyh: Bus phy bl dnwwwhty:

Wu fuunhpu wjuytiu Yuptih b wyunytnb.

x5 +125 6
Uuhwjun
rhy

Wuwntin U gnpsnnnipymuutinp, U npwug hippuwunipniup hunwy tplmd Gu: Uumd |
hwjununa gnpénnmipyniuubnu m npwug hbppwuwunpmiup npnyb: Lhpemu pudwund
tup 6-h, htmbwpwn uwju Ybpsuwwu wpnyniupp 6-ny Ypuquuuwuwmybup, Junwuwup
115x 6 =690, htinn 125 Yhwiukup, wyuhupu' 690 — 125 = 565 L Ytipgmu unwgywdp 5-h Ypw-
dwubiup:
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x5 +125 :6

:5 -125 X6

Lowuwynd E wuhwywn phyp 113-u L:
Nuwap. " 113:

Zuujuuwih k, np gduwyunytiptny mstju wuwuydwu sk: Mupquuybu gowwunlbplym
nbypmid wyjhu npll pugunpnyeinin muym Juphp shuw: Lujunwl nhypnd modwu ke
npudwpwuwuiu puytipp wbwp b upl) (gnub hupubipn 6bq wubip): Ophuwy, wyu fuunpnd
whwh pwy] wn puyp b quwip: Guybiu' «Uudhswljuiunpbu 6-h pudwubnig unwgyl | 115,
niptidu npuivhg wnwy bnty & 115-hg 6 wugud wytijh' 115x 6=690 »: huputnu Ukq hwpgund
tup. «Uudhswwtiu np gnpénnnipiniuhg htann k£ 690 unwgyty »: Zupgh wwunwufuwup hwenpn
npudwpwtwluu pugiu £ «125 wybjuguting htnn 690 E unwgyly, niptidu npuwiuhg wnwse
tinty £ 690-hg 125-ny wuwluu' 565»: Lwenpnp' «5 wuquu dbdwgubinig htiwn 565 L nupat,
niptidu npwithg wnwy tinty | 565-hg 5 wugqud phs' 113»: Cunhwupwytu udwu fuunhpubpp
motihu wdbuwpuwwup b hwpdwpp htnbyw) unngquoph npudwpwuwuwu pugiu
«.. gnpénnmpjniuhg htimn nupak k..., mptda nppuuhg wnwy tnkg ...

Jbnohg muoynn fuunhpubinh Gnipnpn wbuwhp vuppbpdnud B upwiuny, np wishuwynh hbin
Juitnunpynn gnponnmpymiuutinu mnnuihh upgus sku (Yupotiu pnnunpydus, swusugnpyus |hubiu):
Wuwntin pupnnipiniup nppuug pyupwuwuu wju jud wju gnpénnnipjuu wmbtup wwiju k:

fvunhputiph dhongny dnnbignidutinp ywnpqupwutup:

&]ki luunhp 2. Upwdp Pwpltuht 40 np. wngtg, htn APupltuu Upudht wybg tptip
wuqud pwwn, puu duwgh) tp Upwdh dnwn: bnyu gnpoénnnipimuutinp bu tpyne
wuquu Juwmwpbnig htnn Upwdh dnn 480 np. tquy, huy Pwupytuh dnn' 20:
Snipwpwynipp pwufi npud mutip uygpmd:

funph uodwu htim juwyws wyuyhuh pwu wjuunbup: «Fwpltuu Upwdhu wnytg 3
wuqud puwn, pwu duwgty tp Upwdh dnn» dinphg hwuwund Gup, np Gpt Upwdh dnw,
ophuwy, 2 nn. tp, Pupltup upwu 3x2=6(np.) mytig, b upw Unwn 8 np. (4x2) nupawy:
Cunhwunip wndwdp, Gpt Upwdhut wwihu Gu upu mutigwd gniduph Gnwwwwnmhyp,
upw gnidwpp uyqpwluwuh pupwwwwmhlu L punumd’ pupwwwmlynid k: Ujdd wipntu
WJwd wuwydwup pnnupyyws sk, npnpwlh gnpénnnipiniu | gnyg nwhu’ pugquuuyunynid
4-ny: Upnbu wuwydwuubippn hunwy tu b upnn Gup ytipohg wnwye quwy:

Wuwhuny, 480 npudp twfunpn puymd Upudh nifubgush punwuyunhlu B Gywuwmu
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L, Gw npwuhg wnwy mutghy I 480-hg 4 wuquwu phy' 120 np.: Miptdu Awupltup upw wdty
L 3x120=360 (np.): Guuhupy, ek Auplytup Upwdhu 360 np. | wyl b hp unwn 20 np. |
duwghy, wpwuwynd b npuithg wnwye Pwpltup 380 np. (20+360) niukp: Luwy) wn puy; tn
Lup nunund'njwén tin Bup Yapgumd, unwguén' yhpunupsund: 5y wyjuwbu Yepnidmd
Gup pnpnp puytpp:

“w Yupbh §uwl Gpynt wyuyhuh ymuwyh wbupny gpuwugh)’

Upwd Pwpltu
Ytpomu 480 20

120 380

160 340

40 460

80 420

20 480
uljqpnd 60 440

Nuup.' 60np., 440np.:

bPntw, pwuh np thnnp dthhg dnwhu £ thnfuwugynud, niptdu ponp puglpmud Gipynuup
vhwuhu 500 np. (480+20) mubu: Gruwuwymd L dkhh gnidwpp mpudwpwubiny qunubing
htwn Unwhup Jupnn tGp npnply 500-hg nu hwubny: Ophuwy' U-u 120 np. muh, mpbdu
R-u 500-120=380 ntuh:

Snpop htpunwgutint hwdwn Yunpkh b, upuuhg pugh, ynituwyubph Ynnphu (wenid) thnpp
ujubidwyny gnyg wmwy, ph huy hippuwunpyudp tu hpup thnn nygt): Udku puyihg htnn B
Yuntih § $hpuly' nip hwuwp: “tw htipnwgumd b Jtpshg ujhgp quwp wuwwnytpugubyp:

ujgpnid U - g/
IS u
ua - /
IS u
ua - g/

Yytponid £ —> ua 1

TLlwwnbup, np wyu juunhpp nstint hwdwnp hwjuwuwpnudubp Juqubip qwun wybkh ndgup
E, pwu wyu wnynuuwyny wpluwwmbp:
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"*]&X tuunhp 4. Jwdwnnnu wnwehtu gunpnht twphusutiph Ytup Juwntg, tpypnpnht’
duwgwsh Ytup: ‘Unyu Ybpy uwphusubpn wéwnbtg Lu Gpynt dwpnne: Gpp
hhuqgtinnpn gunpnp Unntiguy, yuéwnnnh unwn 2 uwphuy tp duwgh): dwwnnnu
uljgpnid pwifi twphue niubip b jmpupwugnip gunpn pwufup qubg:

huswybu un hwwhu, dtup Jupnn Gup dbq oquby ufwnpbny, géwwywunybpbny: tw
hwpdwp § hwnjuwbu wju nbwypnud, Gpp dwubiput wpmwhuwynyws Gu thnpp Ynunnpuly-
ubpny: Ophuwy'

Yupnn Gup httmlywy Yepy ujupt.

‘uwphuy

MNuup.* 32 wwphlio:

"*]&X tuunhp 5. Lhunh wujwu tpudynwlut dpgnyph dwutwlhgutiph Yhup 2-pr thngg
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wiuguy: Gpypnpn 1hmlh dwuiwyhgutinh ——n 3-pn thny wiugwy: By tppnpn
thniyih dwuuwyhgubtiph 4—]3 nuthutijhp nunéwy: Uhgnyphu punudbup pwufd
dwpn dwutwlghg, bet 5 dwuuwyhg nuthutyph nsdwu wpdwuwgwiu:

5 dwpn

QNuup.* 120 dwuiwlhg:



ﬁ“lki fuunhp 6. Uh pwuh tpbfuwgh fuuénp thu v hu: Unwsht bpbfuwi 1 fjuténp nu duw-
gwsh 1/10-p uinwguy, tpypnpnp’ 2 fuuénp m duwgwsh 1/10-p, tppnpnp' 3 juuénp
nt duwgwoh 1/10-p b wyju: Munqytg, np pnnpp unyupwu fuuanp bhu unwghy:
Uygpnid pwip juuanp Yup, tpt 9 tpkjuw thiu:

Unwshu hwjwgphg Gpypnpny mbuwyh Ytpohg nudynn fuunhp §: bpujuumd wju juwm
wyth wung § moynd, et dhust yepe hpunpnipggniup hwujuuwup:

Jtipemd’ huubipnpn tpbfuwt unwund | 9 fjuuénp m duwgwsh 1/10-p, b wyjlu juuanp
sh dunud: Wyuhupu' duwguép wpnbu 0 I (bpt pyh 1/10-p Yupgubijmg htinn nghs sh dund,
niptidu wyuntin nghus squin):

Unwgynwd E, np huubipnpn tpifuwu 9 fuuanp £ unwgh), niptidu pnpnp hup Gpifuwubpu
E1 unyupwu Gu unwgh) (pun juunph wuydwuh): Gywuwmd | juuanputipp 9x9=81-u tu
tinty:

QNuup.* 81 jlianp:

‘ dlipohg mudinn bphpuyjwiup punhpubipp unphnipn Bup wwhu wnwug
: gowyuunybplynt, puiwdnp jnidly. qduwyunylinlyn Jpu dwiuuygnn dwdwiw-
Y gnd Gupnn bu 2 mpudupwiiwlut nunnnngggudp wnunlly wpug in puntwg (o
jwy Fuwl mnbinp dupqbynt hudwpn): :

29.-Nh3C
(wnwyty hwowlu hwunhwnn ufuwjubnp)

= Gunuwpadwu tpYnwuhg wybih puyltph wnjuynipjuu nhwypnd, wupunhwn,
puy] wn pwj] Ybpshg wnwye pwdytint hwdwp dWuwwbu ptiq hwdwp YpYuhp'
wjuhus Ubdnipjuwu wpdtipp «... qnpénpnipyniuhg htwmn nupéab) k..., npbdu
npwuhg wnwy binky k...»: Ujuwtu stu b qqu, ph husytiu tu ufuwy' uyqphg nbuyh
ytine pwnpdynud:

= £n dwpbtdunhuwu pnnp  ghwnbjhpubpu oguugnpdhp fuunph  «pn-
nupyyud» myjwjubipp Ghpn hwuwuwnt, «Japswubnu hwdwn:
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Gpl dnpnid ywhwéu phyp 20 wuquu dkdwgubup, hul unwgwsp' 20-ny, 140 Yuunwg-
yh: 0'p phyu d dnpnidu wwhty:

Wwltpnu wpluwphwgpnipjuu nuunigshg Upwpwn (kinwt pupapnipiniup hwpgnptg:
Munighsp ywwnwufuwutg, np Gt Upwpwnh pupdpnieintuhg 18 nnp hwubup, unwg-
Jwép 169 wuqud thnppugubiup, 100 Junwgyh: Upwpwwn jinwu pupépnigniup pwup
nup L:

Gpt wiuhuwyn pyht unyu phyu wybugutiup, 42-hg 70 wiuqud Uts phy unwgyh: Wn np
rhyu E:

Gpt wuhwjn pyht upw Ypjuuyunhlu wykugutup, 4575 Junwgyh: W np phyu k:

Gniqughu hp nubgwd Jupumndhih Ytup L Lh Gpynt wwply uwéwntg, nphg hbunn
Upw Unin Jupunndhy sduwg: Rwiuf wwply jupunndhy niutip:

Stinsynthhu wnwsehu gunpnhu hp juuanputiph Yhup Juéwntg, tpypnpnhu’ duwugwsh
Ytup, huy tppnpnht’ duwgwsh Yhuu ne Jtipght 5 juténpp: Gw pwiufi juuénp Jutwntg:

Uwwnwuwu i dnyjp. Fhnh Judpoh dnn uwwnwiuwu nu éniyjp hwunhwbghu: Onyju hp
wnpuwnnipjniuhg ndgnhtg: Uwnwuwu h yuwnwufuwu hp ogunpiniuu wnwownytg.
«Uubku wuqud wyu Judpony wugubiihu pn thnnp Yypyjuuyunyyh, vwuyu jnipu-
pwitgynip wugquu npuuhg htnn hua 24 jnwbly wbwmp E vmwuy: Onypp 3 wugud Judpsny
wugwy, hul tpp npudwwwuwyh ke twytg, wyu nuunwny tp: Uggpnud dnyju huspuiu
thnn niubip:

Bpynt pthhu 20 Quénnily Lhu wunws: Gpypnpn pthhg 2 Guénniy pnwu, hbnn wnw-

shuhg 5n phwt, uunbghtu tpypnpn pthhu: “tpwuhg htnn jmipupwugnip pthh ypw
hwywuwn pyny Guénnly tp tunws: Uggpnid wdbu pthh pwufiut Ep tunws:

Gnynt Ynyunnud gt 16 hwnhy ju: Gpp wnwshuhg tpypnpnh ypu wyupwa hwnhly
wytjugnhu, nppwiu tpypnpnmd Juip, huy htinn Gpypnpnhg wnwshuh Ypw' wnwehunmu
Uuwgwd hunhlubph suth, wipryniupmd Ynynbph jmgym hwnhlubpp hwjuwuwpygtghtu:
Uygpnid wdbu Ynyunnud mglym pwiufi hwinhy Yuip:

Utinuiuh tptip Ynyw pulnyq Ep npus: Unwght Ynynhg puynyqubph Yhup tpiypnpnh
Ypw 1gntigh, htvin Gpypnpnnud unwgqwop tpynt hwjwuwnp dwubiph pudwutighu b

npuwughg dtyp tppnpnh dpwe wytjugphu: Gpp wjunthtnl wnwghuh Ypw Gppnpnh
Ytut wykugphu, wnwehumd 25 puynyq nupéwy, Gpypnpnnud’ 16, Gppnpnod” 11
Uygpnud widkit Ynyunnd pwiuli puynyq Yup:



32.

33.

34.

35.

36.

37.

38

Upwdp, Pugpuunp, Swghlu nt “twghpep fuwnnud bhu wjuyhuh yuwydwuny, np ywpun-
Unnp Ynwubinhg jnipupwiugynipht wyjupwiu pulnyq wnw, nppwn u yepshuutinhu unwn:
Unwghp wupuftg Upundp, tpipnpnp’ Pugpuanp, tppnpnp’ $wghlyp W snppnpnp
“Quwdhpep: tpwuhg htn upuwughg jmpupwuygnpp 48 pulnyq mubkguy: Snwutphg
Jnipupwiusinip ugpnud pwiup puynyq mubp:

Uh 1h& ghwbd, npnud pnipwuubp Bu wanmd: Cun npmd widbu op wyunntin ynipywinubinny
swoyywsé dwytintiup Ypjuwyuunynd £: Gpp hua wuwghu, np (6h dwybpnypu wd-
pnnonupjudp onpwuutpny swolyly k1 wdumd, hwpdtgh, ph 16h dwytpunyph Yhup
Swsyynt hwdwp huspuit dwdwuwy  wuhpwdbym tntip: Ywpnn tu npnply’ husutiu
Unwstigh:

Grt wuhwwn pyh %—h‘u 4% wybjugubtiup, 6% Yuuwgyh: Wn np phyu k:

Utlju hp npudh 0,5 dwup dwjuubig, htinn' vuwgwsh 0,75 dwup, nphg htnn upw Unin
150 np. duwg: Upnu huspuiu thnn niutip:

Chpwljugn: puunpp. Uh Ju@wnwluwu 3 pwunupny wugwy, L upwuhg wnwohunud

niutigyuoph Ytuh nu %—h swth hwpy quuédkghu, tpypnpnmu’ duwgwsh Yhuh m %—h,
tppnpnud’ duwgwish Yhuh nu %—h: Sniu yhpwnupdhu yutwnwlwuh unn 11 nuhtluu

(thnnh dpwinp, nuljbnpwd) tp Juwgh): Uygpnud pwiufi nuhbjut niubp:
Rubtnwjunyqutpu hupuwpehnh hudwnp hpwwwpwy Fhu dwppnud: Udku htppwthniuhu
upwup 360 tunp. U gniu bhu dwppnud, puyg npwuhg htun, Gpp hwugquunuund Lhi,
pwudhu unphg nwywu wupwu gnmu tp (gunud, npput dwppbm Ep dumd: Gppnpn
htippwthnjunid nupnp dwppytig: UWuwwnwuph ulgpmd  pUbinwjunygqubipp nppuiu
anu whwp L dwppbhu:

Snwiu 30" 15 upuhp m 15 ul qgunhy mubp: “Fpwiup pswitwsl pwptg b unyu nin-
nnipyuup wupunhunm hwyytny’ wdtu 10-pn qunhyp hwubkg dhush dhugu 15 Jupdhp
qunhlutipp duwghu: Sunhyutpu uygpnid husytiu thu nuuwynpyus:

" Wu fuunhpp unyu hwennnipjudp Jupnn bp wnwshu pudund npyby:
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